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Question Number : 1 Question Id : 64635029838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A teacher intends to find out the learning difficulties of students. Which of the following
tests can be used?

(1) Summative Test (2) Formative Test
(3) Performance Test (4) Diagnostic Test
Options:

E45350117139. 1



E4E350117140. 2
645350117141, =
645350117142 4
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Question Number : 2 Question Id : 64635029839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Below are given two Columns. Column-A presents the methods of teaching and Column-B
presents the focus of a method. Match the two Columns.

Column-A Column-B
(Methods of Teaching) (Focus of a Method)

(a) Cdlaborative Method 1)  When expertise of teachers are used in teaching

(b)y Co-operative Method 1) When emphasis 1s given on students as creator of
knowledge

() Constructivist Method 1) When students share different
aspects of a learning activity

(d) Team teaching (1v)  When students help each other to learn

Select your answer from the options given below :

(@ G © (d)
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@ @ av) @ @O
@  av ) @ @
@ @ v ) @

Options:

645350117143 1
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Question Number : 3 Question Id : 64635029840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What 1s the main objective of formative evaluation?

(1) To promote students to the next class (2) To enhance students’ learning

(3) To enhance co-operation in class (4) Tounderstand the learning difficulties

Options:
45350117147, 1
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Correct Marks: 2 Wrong Marks: O

The following teaching aids can be used by a teacher in the classroom as a live interactive
device :

(a) E-mail

(b) Skype

(c) On-line Chat

(d) Tele-conferencing
(e) Face-book

(®  Blog

Select your answer from the options given below :

1) (&), b)and (©) (2)  (b), (0) and (d)
@) (), (e and (D 4 (a), (b) and (d)
Options:

E45350117151. 1
E45350117152. 2
645350117153, 2
645350117154 4
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E4E350117152. 2
645350117153, 2
645350117154 4
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Correct Marks: 2 Wrong Marks: O

Student-Centric Classroom 1s meant for

(1) Addressing the individual differences (2) Reducing teacher-oriented lectures
(3) Recalling the previous knowledge (4) Engaging the entire class

Options:

645350117155 1
645350117156 2
646350117157 =2
45350117158 4
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E4E350117155. 1
E4E350117156. 2
E45350117157. 2
6453501171558, 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Research design that needs to collect factual information on a continuing basis 1s classified

as

(1) Longitudinal Study Design (2) Pre and Post Study Design

3) Cross-Sectional Study Design (4) Double-Control Study Design
Options:

645350117159, 1
E4EZ50117160. 2
E4E350117161. =
645350117162 4
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645350117159, 1
E4EZ50117160. 2
E4E350117161. =
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Question Number : 7 Question |d : 64635029844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Snowball sampling 1s the process of selecting a sample using

(1) Networks (2) Groups
(3) Snowballs (4) Computer Programs
Options:

645350117163 1
645350117164, 2
E4E350117165. =
EAE350117166. 4
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Correct Marks: 2 Wrong Marks: 0

leriet gfaem et afaast & =em 6t 3z b 2 e gae v=im e s 2

1) e 2 @
@ e @) Fg T
Options:
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Correct Marks: 2 Wrong Marks: 0



In which of the following research paradigms the focus of concern i1s on interpreting reality in
terms of participants perspective?

(1) Experimental Research (2) Ex-post facto Research
(3) Ethnographic Research (4) Survey Research
Options:

E4E350117167. 1
EAE350117168. 2
E453501171639. =
645350117170, 4
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645350117167, 1
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Question Number : 9 Question Id : 64635029846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ERIC, MEDLINE and ABI/INFORM are instances of

(1) Citation services (2) Electrome databases
(3) Printed databases (4) Libraries
Options:

645350117171, 1
EAEZ50117172. 2
E4E350117173. 2
645350117174 4
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E45350117171. 1
EAE350117172 2
645350117173 2
645350117174, 4

Question Number : 10 Question Id : 64635029847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A tentative proposition with unknown validity that specifies a relationship between two or
more variables is called

(1) research problem (2) research proposal
(3) research design (4) research hypothesis
Options:

645350117175 1
645350117176, 2
E4E350117177. 2
EAE350117175. 4

Question Number : 10 Question Id : 64635029847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Shuffling Allowed : Yes

Question Id : 64635029848 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

An important difference between human beings and animals is the property of lanugage.
Animals have a rudimentary information process but this process does not have the
sophistication and complexity of human language. If two dogs communicate, they pass on
information but they can't discuss details the way humans can. While humans are blessed to
possess the language faculty, most of the time they don't utilize 1t to its greatest potential.
Perhaps this 1s because human beings tend to react rather than respond. And a lot of the
message of languages 1s lost in this reaction.

In the daily use of language, people forget the complex process involved in arder to put even
ocne word in place. The wonder of this process lies in the fact that it 1s involuntary in nature,
the whole get of chain processes right from the command in the brain to the forming of words
from the message required to the movement of the vocal chords and corresponding
movements In the lungs and mouth takes place within seconds. Perhaps the whole
suggestion of think before you speak’ may lead to a silent world!

In the world of daily interaction, language becomes a marker and a means of projecting
identity. The people around us identify us with a certain style of using language and
unknowingly, each language user follows this style by habit. It 1s not a bad idea to record
one’s spoken communication from time to time, as this will assist in removing any unwanted
elements that the speech may be expressing. Similarly, 1t 15 a good 1dea to step back once 1n
a while and read one¢’s written communication objectively.

Sub questions

Question Number : 11 Question Id : 64635029849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Amimals do not possess language because

(1) the power of speech 1s missing (2) the life breath is missing
(3) the level of complexity is missing (4) theinformation-sharing is missing
Options:

E4E350117179. 1
E45350117180. 2
645350117181, 2
645350117182 4

Question Number : 12 Question Id : 64635029850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The process of language 1s a wonder because it 1s

(1) a reaction (2) aresponse
(3) smooth (4) 1involuntary
Options:

645350117183, 1
645350117184, 2
645350117185, =
E4EZ50117186. 4

Question Number : 13 Question Id : 64635029851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When human beings react rather than respond

(1) They lose the message (2) They loge control
(3) They become emotional (4) They can’t speak
Options:

645350117187, 1
645350117188 2
E4E350117189. =
E4E3501171300 4

Question Number : 14 Question Id : 64635029852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The world will become a silent place if people will think

(1) too much (2) before histening
(3) before responding (4) before speaking
Options:

E45350117191. 1
645350117132 2
645350117132 =
6453501171394 4

Question Number : 15 Question Id : 64635029853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following forms 1s assumed by the language style of a person?

(1) a reaction (2) a habit
(3) a response (4) a thought



Options:

645350117195 1
648350117196 2
45350117197 =2
645350117198 4
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Question Numbers: (11to 15)
Cuesticon Label | Comprehiension

HE AR 7Y § UF g AT W o 3 vl § wiforss geen a8 e 3 e 8
HHE-YTNT 1 TARH AR 8 gieeasy T8 aan 2 AfG &1 Tl § i Jeiar g g ar 9 SEE
quiitd @d 2 e wra & wifd 12 fod= #0 4 way did 21 SEie ags § vt g aiiid w5 w6
Yafifer o1 frame 2ian 2, sAEra 3 Al 39 amar ol &9 39F AF Had 21 awed: vEn gufae 2 R
HHS H 3 a4 i a9 gfafean o4 i yafd veaa gt 2 A 39 afafkan & w3 3 w6 agd adfas
HesT o 2 S 2

WINT % &% SEFT | < 321 9% [ UF ¥eg o & fau ot sad afafza Stea 9t w e 2 2 2
4 AT 1 formerrll ug @ 2 T sudhl wofa emfa® 21 9z g gaan s Aifcas® d 3gd a7 8 aw
iR Gew args weg Fmior % weam & @ a9 3 gufa 2 2, deafie s 4 $wEi @R g 8 e
gt 21 warfed Siem ¥ gget GEC % gIa & qiom ey geed 99T & Fwsg 29 i A 2

&% amdicam s H WY UgeH 95T 5 F dhad AR 19 a9 Al 21 gHE AE-T F i 9T
AT A I Fa9q Sofl F AT9E T A 9 T 2 AN FAH § I 9N 5 S FAae Aedd
g9 el 1 ATH FAT 2| A AR HYYIT Rl THT-HAE T AR 1 e e 48 2 e
4g dlfesh Afheald 4 FHETAS dedl & YiEE § GgR 2 §Hl S 98 Uk A=s foen 2 i agr-a
fore get e ferfiga @dmor 6t axgfe @1 & ger S

Sub questions

Question Number : 11 Question Id : 64635029849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0
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645350117183 1
E4E350117184. 2
E4E350117185. 2
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645350117187, 1
645350117188 2
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E4EZ50117130. 4
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645350117191, 1
E4E350117192. 2
E4E3501171392. 2
6453501171594 4
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Correct Marks: 2 WrongMarks: 0
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Question Number : 16 Question Id : 64635029854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the context of a classroom teaching ‘Smiles or Frowns' when used as non-verbal cues, tend
to perform which of the following basic functions?

(1) contradicting the verbal cue function (2) regulating the verbal cue function
(3) substitute function (4) supplement function

Options:

645350117199 1
645350117200 2
645350117201, =
645350117202 4
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Correct Marks: 2 WrongMarks: 0

Below are given two sets in which Set I describes the types of listener involved in
communication, while Set II indicates their characteristics ;

Set-I Set-I1
(Types of listener involved in
Communication) (Characteristics)
(a) Non Listener (1) 15 engaged 1n information other than the one
needed
(b) Marginal Listener (11) receives information without processing the

significance 1n the context of commumication
(c) Ewaluative Listener (1)  looks into the relevance of the information for
understanding its implication

(d) Active Listener (1v) pays heed to the communicated information
occasionaly

Match the two sets and give yvour answer by choosing from the options :

@ (b (©) (d)
(1) av) (u) (1) @)
(2) @) v) Q) (1)
(3) a @ ) @)
(4) W v @
Options:
E46350117202. 1

EAE350117204. 2
E4E350117205. 2
645350117206, 4
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Correct Marks: 2 Wrong Marks: 0
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E4E350117204, 2
EAE350117205. 2
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Correct Marks: 2 WrongMarks: 0

Non-verbal communication 1s mostly

(1) mechanical (2) organic
(3) unstructured (4) structured
Options:

E4E350117207. 1
EAE35011 7208 2
645350117209, 2
645350117210 4
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645350117207, 1
E4E35011 7208, 2
E4E350117209. 2
EAE350117210. 4

Question Number : 19 Question Id : 64635029857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

Which of the following principles a good commumicator should follow?

(a) He should stay orgamsed

(b) He should avaid the use of visuals
(c) He should be authoritarian

(d) He must adjust to the medium

(¢) He should prefer the method of story-telling

Choose the carrect answer from the options given below :

(1) (a), (b) and (¢) (2) (b), (©) and (e)
(3) (b), (d) and (e) 4) (a), (d) and (e)
Options:

645350117211, 1
EAEZ50117212. 2
E4E350117212. 2
E45350117214. 4

Question Number : 19 Question Id : 64635029857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350117211, 1
645350117212 2
645350117213 =
645350117214 4

Question Number : 20 Question Id : 64635029858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Which of the following elements a good classroom communication should adopt?

(a) Concreteness
(b)y Courtesy

(¢) Filibustering
(d) Fictionalisation
(e) Coherence

Choose the answer from the options given below :

(1) (&), (b) and (d) (2) (b), (d) and (e)
3) (&), (b) and () 4) (a), (c) and (d)
Options:

645350117215 1
645350117216, 2
645350117217, 3
EAEZ501172158. 4

Question Number : 20 Question Id : 64635029858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350117215, 1
E4E350117216. 2
645350117217, 2
645350117215 4

Question Number : 21 Question Id : 64635029859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If DRIVER = 12, GOVERNMENT = 20, BELIEVED = 16, then BAT =?

(1) 6 (2 8
(3) 10 @ 12
Options:

6453501172149, 1
45350117220 2
E4AEZ50117221. 2
EAEZ50117222 4

Question Number : 21 Question Id : 64635029859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afe DRIVER = 12, GOVERNMENT = 20, BELIEVED = 16, 2 4t BAT = &41 2 ?

1 6 (2 8
3 10 @ 12
Options:

E45350117219. 1



EAEZ50117220 2
645350117221, 2
45350117222 4

Question Number : 22 Question Id : 64635029860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The price of item A increases by 50 paise every vear while the price of item B increases by
25 paise every vear. [fin 2008, the price of item A was Rs. 3.20 and that of B was KHs. 5.30, in
which yvear item A will cost 40 paise more than the item B?

(1) 2016 (2) 2017
(3) 2018 (4 2019
Options:

645350117223 1
645350117224 2
645350117225 3
45350117226, 4

Question Number : 22 Question Id : 64635029860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g U F Hed 8 Wiaad 50 44 €1 gfg 2t 2, Safs aeq ot & goa | wfaad 25 @ 4 gfg @ 21 af
2008 § a%q € & God 3.20 &, o A aq 1 5.30 %, o1 dt frm o d aq ¢ #l go¥ axq i f qa &
40 99 =fere gmn?

(1) 20186 (2 2017
(3) 2018 4) 2019
Options:

E4E350117223. 1
EAE350117224. 2
EAE350117225. 2
EAE35011 7226, 4

Question Number : 23 Question Id : 64635029861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The average age of a class of 59 students 1s 18 years. If the age of the teacher 18 included,
then the average increases by 3 months. The age of the teacher 1s

(1) 28 years (2) 30 years
(3) 33 years (4) 35 years
Options:

BAE350117227. 1
EAE35011 7228 2
645350117225 2
6453501172320 4



Question Number : 23 Question Id : 64635029861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UF FAT & 59 B Hl Awd A 18 a9 21 afe 35 fms i ey aftrfod & & S A dtea g E 3
iz i gfg 21 Sl 2 4 e $ =g 2

(1) 28 T (2) 30a9
3 33 @ 35ad
Options:

645350117227, 1
EAEZS0117228. 2
EAE350117229. 2
EAE350117230. 4

Question Number : 24 Question Id : 64635029862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Two cyclists start from the same place in opposite directions. One goes towards north at
9 kmph and the other goes towards south at 10 kmph. What time will they take to be 47.5
km apart?

1) 2% fire ) 415 s
@ 41 hrs iy o s
1 1

Options:

645350117221 1
645350117232 2
645350117233
648350117234 4

Question Number : 24 Question Id : 64635029862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 afra gan o & cum & fagda e @ wum w4 21| us aefea gar s g 9 feadie i nfa &
I fewm o Simar 2 et s AnfEa gan gfd gz 10 feandie i ofd o g2 T d Sar 21 gE
HTEfRel HAT Rl -G8 8 47.5 fepeiidier 1 gt v g | foran oo @i ?

I = [ [

(1) 25‘«1% (2) 4§aé

P jtt

(3) 4;1 3 F (4) 21 He
Options:

E45350117231. 1
EAE350117232. 2
645350117233 2



EAE350117234. 4

Question Number : 25 Question Id : 64635029863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A person incurs 10% loss by selling a watch for Es.1,800. At what price should the watch be
sold to earn 10% profit?

(1) Rs. 1980 (2) Rs. 2160
(3) Rs. 2,200 (4) Rs. 2,360
Options:

645350117235 1
45350117236, 2
EAEZ50117237. 2
EAE350117238. 4

Question Number : 25 Question Id : 64635029863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U 4tk U " & 1,800 %. H &gkl e 10 yfawd § @k 33m@r 21 10 gfdsa o #9m & e gt fi
forer o e farshr fr sy =nfaa?

(1) 1980 =, (2) 2,160%.
(3) 2,200 &, 4) 2,360 %,
Options:

645350117235 1
45350117236, 2
EAEZ50117237. 2
EAE350117238. 4

Question Number : 26 Question Id : 64635029864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the minor term in the following syllogism :

“Some books are not edifying
All books are interesting
Therefore, some interesting things are not edifinng”

(1)  Subject of the conclusion and predicate of the second premises
(2) Predicate of the conclusion and predicate of the first premises
(3) Subject of the both premises

(4) Predicate of the both premises
Options:

646350117239, 1

646350117240, 2

645350117241, =



EAE350117242. 4

Question Number : 26 Question Id : 64635029864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferfifiaa = g d qo gz i geEE Fie
G TEdeh Gade A8l Fdl 2
ot e s 2
7= o, %o sfee ad ga9« A8 @i 217
(1) ey 1 3299 @A fgda staw a0 o
(2) g 99 2 gue 2nar e @ g
(8)  EFl ATYR ari H ITH
(4)  ZF1 R aEEl & Eg

Options:

646350117239 1

C4E25E0117240. 2

E4E350117241. 2
EAE350117242 4

Question Number : 27 Question Id : 64635029865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The reasomng which would be helpful in finding new knowledge of facts about the world 1s

(1) Speculative (2) Inductive
(3) Deductive (4) Analogical
Options:

E4E350117243. 1
EAE35011 7244 2
645350117245 =
645350117246, 4

Question Number : 27 Question Id : 64635029865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHR | 90 A Jit a2 & JH H SIHEA g S 91 ae TgHE g e

(1) AT (2) ANTHATHS
(3 AT (4) HIGTATHS
Options:

E4E350117243. 1
EAE350117244. 2
645350117245 =
645350117246, 4



Question Number : 28 Question Id : 64635029866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a class of 35 students, Rajan 1s placed seventh from the bottom where as Karan 1s placed

ninth from the top. Divya 1s placed exactly in between the two. What is the differences in the
positions of Rajan and Divya?

(1) 9 2y 10
@ 1 @ 12
Options:

645350117247, 1
645350117248 2
645350117249 3
EAEZ50117250. 4

Question Number : 28 Question Id : 64635029866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

35 faenfeii &t Fen & wom = O g1 & A W 2 SEiE F= 3fiY 4 Al tuE w2 feew = dF
frenfiit % fresa aea § 2 dt Io9 R 5o & =il # &7 R g ?

@ 9 (2) 10
(3) 11 4 13
Options:

E4E350117247. 1
EAE35011 7248 2
645350117249 =
645350117250 4

Question Number : 29 Question Id : 64635029867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consider the example provided below :

“This gavaya i1s like my cow”

This 1s an example of which means of knowledge ((pramana)

(1) comparigon (2) 1mplication
(3) perception (4) 1inference
Options:

E45350117251. 1
EA535011 7252 2
645350117253 2
645350117254 4

Question Number : 29 Question Id : 64635029867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hi few U e W famm fifau;
“Ig Tag (gavaya) B T S 817
a7 I % T @rem (SETn) w1 UE 3R 2

(1) Ll (2) @ity
(3) A @) oo
Options:

E4E350117251. 1
EAEZ50117252. 2
E45350117253. 2
645350117254 4

Question Number : 30 Question Id : 64635029868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :
“Sound 1s impermanent because it 1s invisible
Identify the fallacy involved in the above argument on the basis of Indian logic

(1) Fallacy of irrelevant reason (2) Fallacy of wrong assertion
(3) Fallacy of trivial reason (4) Fallacy of contradictory reason
Options:

645350117255, 1
EAE350117256, 2
EAE350117257. 2
E4E35011 7258 4

Question Number : 30 Question Id : 64635029868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hfiwr few v ad w fomm fifse -

“eaf sreurlt 2 @ itn 98 wgvd 817

A aeeTe F1 g8 O 3w a ° Figd gy 6 ug=H i)

(1) AR T & aN (2) TId AMFEE A
3 =9 T WA @) e ok = a
Options:

645350117255 1
EAE350117256, 2
EAE350117257. 2
E4535011 7258 4



Sub-Section Number: 4
Sub-Section 1d: 6463501450
Question Shuffling Allowed : Yes

Question Id : 64635029869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

The vear-wise student strength in a university from different zones of the country in
addition to those students who are from foreign countries 1s shown 1n table given below :

Student Strength (in hundreds)

Year North Zone South Zone Central West Zone East Zone Foreign
Zone countries
2014 15.1 10.2 6.2 4.0 8.2 1.2
2015 16.2 11.5 5.8 4.1 7.8 1.6
2016 12 11.8 6.0 4.5 8.5 1.7
2017 17.4 10.8 6.5 4.8 T.6 1.8
2018 18.0 10.6 6.4 5.4 8.6 2.5
Sub questions

Question Number : 31 Question Id : 64635029870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which category of students have registered overall maximum growth rate (%) from 2014 to
2018?

(1) Foreign countries (2) West Zone
(3) North Zone (4) East Zone
Options:

E45350117259. 1
EAE35011 7260 2
645350117261, =
645350117262 4

Question Number : 32 Question Id : 64635029871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

During the period 2014-2018, which zone exhibits cyclic variation?

(1) Kast zone (2) West zone
(3) Central zone (4) South zone
Options:

645350117263, 1
645350117264, 2
645350117265, 3
EAE350117266, 4

Question Number : 33 Question Id : 64635029872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
What 1s the mean of annual growth rates (%) of the student strength of north zone?

(1) 6.24 (2) 4.51
(3) 3.86 4) 4.82
Options:

645350117267, 1
E4E35011 7268, 2
6453501172639 3
45350117270, 4

Question Number : 34 Question Id : 64635029873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which was the year when the students from east zone had maximum representation (%) in
the total student strength of the university?

(1) 2016 (2) 2018
(3) 2014 (4) 2015
Options:

645350117271, 1
45350117272 2
EAE350117273. 2
EAE350117274. 4

Question Number : 35 Question Id : 64635029874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What was the percentage (%) of students from foreign countries 1n the year 20187

(1) ~4 21% (2) ~3.52%
B  ~5.24% 4 ~4.85%
Options:

E4E350117275. 1
EAEZ50117276. 2
EAE350117277. 3
E4E350117275. 4

Question Id : 64635029869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension



ot favafcere™ ¥ e 9 wHa fSentPEi & Sdanar 29 & A= 236 8 aFae Tt & ad-sr
geAT A & 3 arfersr # e w8 2

Rt &t s s B
aq ELLiR-F| AELEEE a2l gfg=m &7 LCIRE] faew
2014 15.1 10.2 6.2 4.0 8.2 1.2
2015 16.2 115 5.8 41 7.8 1.6
2016 17.2 11.8 6.0 45 85 1.7
2017 17.4 10.8 6.5 48 76 1.8
2018 18.0 10.6 5.4 54 a6 2.5

Sub questions

Question Number : 31 Question Id : 64635029870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a9 2014 9 2018 7% PR T @) 4 ARac Rl A aen 3 o e gaffas adqd %) 2 2

(1)  faew 2) ufe=m 2=
@) Il ax (4) & &
Options:

E45350117259. 1
EAE35011 7260 2
645350117261, =
645350117262 4

Question Number : 32 Question Id : 64635029871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ay 2014-2018 F anH 50 &9 § <R saad 2 r T 27

()  odi &= (2) ufe=w &=
(3)  wEHa @) zfoE
Options:

645350117263, 1
645350117264, 2
645350117265, 3
EAE350117266, 4

Question Number : 33 Question Id : 64635029872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Iuil &7 & feenfiEi i T § afis-aig & (%) F1 9eEH 9 87

(1) 6.24 (2 4.51
(3) 3.86 4) 4.82

Options:



E4E350117267. 1
EAE35011 7268 2
645350117269 5
645350117270, 4

Question Number : 34 Question Id : 64635029873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freferfiaa 9 @ fem ad qdff 2 % e 1 Gvafaenea % sa rnfE § gaifas gfaRfae (%) ar?

(1) 2016 (2) 2018
3) 2014 @) 2015
Options:

E4E350117271. 1
BAEZ50117272 2
64350117273 3
645350117274, 4

Question Number : 35 Question Id : 64635029874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a9 2018 H faew ¥ AR fenfEmEl w1 ufawea o

(0 ~4.21% (2) ~3.52%

o L0 Rt 0

3) 5.24% (4) ~4.85%
Options:

645350117275 1
45350117276, 2
645350117277, 3
EAE350117278. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501451
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635029875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not considered as a form of secondary storage?

(1) RAM (2y Floppy Disk
(3) Optical Disk (4) Flash Drive
Options:

E4EZ50117273. 1



EAEZ50117280. 2
645350117281, =
645350117282 4

Question Number : 36 Question Id : 64635029875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefefiaa @ fraenr Bdoe vero «1 v &9 421 9F1 Siar 27

1 ™ 2 T
@ it fos (4) wGET
Options:

E4E350117273. 1
E4E35011 7280 2
645350117281, 3
453501172582 4

Question Number : 37 Question Id : 64635029876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following devices enables a computer to transmit data over telephone lines?

(1) CPU (2) Hub
(3) Switch (4) Modem
Options:

E4E3501172583. 1
EAE350117284. 2
645350117285, 2
6453501172586, 4

Question Number : 37 Question Id : 64635029876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfga @ o &9 @ gfeq 2elim @ 9% Wed Bl e 0 H FEE B 95 a9l 2

() iR (2) @

i

(3) feam (4) W=

Options:

648350117282 1
45350117284 2
645350117285 5
645350117286 4



Question Number : 38 Question Id : 64635029877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the encompassing term that involves the use of electronic platforms to conduct a
company's business.

(1) E-Business (2) E-Commerce
(3) E-Marketing (4) E-Governance
Options:

E4E350117287. 1
EAE35011 7288 2
645350117289 =2
645350117230 4

Question Number : 38 Question Id : 64635029877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U oaAsh vz ) ggam P Rl wE F crmum % geen ¥ g e @eend o3
mfwfad g 2

(1)  3-FsE (2) 3-*w4
(3 g-wmeHf 4) F-mem
Options:

645350117287, 1
EAE350117288. 2
EAE350117289. =
E4A535011 7230 4

Question Number : 39 Question Id : 64635029878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s generally associated with the domain name of an educational

institution?

(1) .org (2) .edu

(3) .com (4) .inst
Options:

645350117291, 1
EAEZ50117292. 2
EAE350117293. 2
645350117294 4

Question Number : 39 Question Id : 64635029878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Fefafiga 4 4 $19-91 % Afes M & A48T AW (EFA A1) 39 99g gare ?

(1) .org (2) .edu
(3) .com (4) .inst
Options:

6453501172591, 1
645350117292 2
E4EZ501172392. 2
EAE350117294. 4

Question Number : 40 Question Id : 64635029879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
NMEICT 1s an acronym for

(1) National Massive Education through Information and Communication Technology

(2) National Mission on Education through Information and Communication Technology

(3) National Multipurpose Education through Information and Communication
Technology

(4) National Mode of Education through Information and Commumcation Technology

Options:

645350117295 1
645350117296 2
645350117297 2
645350117298 4

Question Number : 40 Question Id : 64635029879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

NMEICT o ue gfianii 2

(1)  A¥9c AFd UHEH Y FHHH U8 FRH I arars

(2) A YA A U Y FRIHYH U8 FRfAEEE St
(3) e Hedads UHNE Y FRETH U2 FFHIE
(4)  AYFC A2 A TIHH Y FFREIH U FHEIH St
Options:

645350117295 1

645350117296 2

EAE350117297. 2
6453501172395 4

Question Number : 41 Question Id : 64635029880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the parameters used to characterize the air quality at a location is PMzs. Here, the
suffix ‘2.5 refers to

(1) average number of suspected particles in 1.0 ecm? of air
(2) size of suspended particles in certain units

(3) concentration of oxides of sulphur and nitrogen

(4) concentration of suspended particles in 2.5 m?® of air
Options:

6453501172599, 1
645350117300 2
645350117301, 3
E4EZ50117302. 4

Question Number : 41 Question Id : 64635029880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

u# wafeufs w ar e # el s % fae wgw fee S aren ameE PMas 21 981 3FEd 2.5
T AT A 27

(1) ad % 1.0 cm®H wqrafrera &oii $ii faa we
@ i sweedi § snafaa Fui 1 S
(3)  ToHl AR AEZH & HMENSEH BT AH0T
4)  aF % 2.5 m*H e wol w5 AE

Options:

645350117299 1
645350117300 2
6483501173201 =2
45350117202 4

Question Number : 42 Question Id : 64635029881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the set of non-renewable resources

(1) Uramum, natural gas, soil (2) Natural gas, uramium, phosphates

(3) Petroleum, uranium, geothermal energy (4) Shale gas, uranium, soil

Options:

645350117202 1
645350117304 2
645350117305 =
645350117306 4

Question Number : 42 Question Id : 64635029881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



f-Adrrla FaeH! 1 aq=" gHY

(1)  FifFH=E, sl 49, g (2) ki |, FiHEH, Bk
@)  ugifcrEm, gifEm, y-arfa =i @ 9= M, g, g
Options:

E45350117303. 1
645350117304, 2
645350117305, 2
645350117306, 4

Question Number : 43 Question Id : 64635029882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following diseases are due to polluted water?

(a) Giardia b) Dengue

(c) Amoebiasis (d) Typhoid
Choose the correct answer from the options given below :

(1) (&), (b) and (d) (2)  (b), (c) and (d)
3)  (a), b), (©) and (d) 1) (a), (c) and (d)

Options:

645350117207 1
645350117308 2
645350117309 =
645350117310 4

Question Number : 43 Question Id : 64635029882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefrfaa 5 W | s wgita S & H g 27
(@)  f=niEa (Giardia) (b) =7 (Dengue)
)  uH@BATEE (Amoebiasis) (d) =E%EE (Typhoid)

3 fou o P & & e SR |

(1) (@), (b) S (d) 2  (b), @ AR (D)
@ (@, b), @ Ard) @ (a), (© &R @)
Options:

645350117307, 1
645350117308, 2
E4E350117309. 2



E4E350117310 4

Question Number : 44 Question Id : 64635029883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the largest sink of COgz gas?

(1) Forests (2) Oceans
(3) Ice sheets (4) Grasslands
Options:

E45350117311. 1
EAE350117312. 2
645350117213 2
645350117314 4

Question Number : 44 Question Id : 64635029883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefafiaa 4 & 19 CO M 1@t 9l vg1/a8! aws (@) 87

(1) = (2) HIMEIH
(@) e =mEt (4) <AFTE
Options:

645350117311, 1
E4535011731Z2. 2
E4E350117313. 2
E4E350117314. 4

Question Number : 45 Question Id : 64635029884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s non-vehicular pollutant?

(1) chlorofluorocarbon (2) carbon-monoxide
(3) hydrocarbon (4) particulate matter
Options:

645350117215, 1
645350117316, 2
645350117317, 2
6453501172158 4

Question Number : 45 Question Id : 64635029884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350117215. 1
645350117216, 2
645350117317, 2
645350117218 4

Question Number : 46 Question Id : 64635029885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The purpose of Gurukul system of education is to

(1) Promote equality and excellence (2) Mimimise stress in learning
(3) Empowering for future learning (4) Encourage self-help
Options:

E453501172319. 1
E4AE35011 7320 2
645350117321, 2
645350117322 4

Question Number : 46 Question Id : 64635029885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e & e oTelt F T | @ E7
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() el aftrm & fou gwea =T (4) TEI-TEEAT B TieanEd
Options:

E45350117319. 1
645350117320 2
645350117321, 2
645350117322 4

Question Number : 47 Question Id : 64635029886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following commission/committee in the post-independent India has pad
attention all the levels of education?

(1) Radhakrishnan Commission (2) Mudalhar Commission
(3) Kothari Commigsion (4) Acharya Rammurthi Committee
Options:

E4E350117323. 1
EAE350117324. 2
645350117325 2
645350117326, 4

Question Number : 47 Question Id : 64635029886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117323 1
E4EZ50117324. 2
E4E350117325. 2
645350117326, 4

Question Number : 48 Question Id : 64635029887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The scheme “Unnat Bharat Abhiyan’ aims to

(1) Increase strength of students in colleges 1n India
(2) Link higher educational institution in the country with at least 5 villages
(3) Increase quality in Higher Education

(4) Increase number of colleges in India
Options:

646350117327 1

646350117328, 2

646350117329, 3

646350117330, 4

Question Number : 48 Question Id : 64635029887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E2E0117227. 1
CAEZE0117328. 2

E4E350117329. 2
645350117320 4

Question Number : 49 Question Id : 64635029888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the scheme which aims to encourage Social Science Research in Policy relevant
areas so as to provide vital inputs in policy formulation, implementation and evaluation

(1) ICSSR Fellowship
(2) Cognitive Initiatives
(3) ICSSR — IMPRESS

(4) ICSSR Research Projects

Options:

645350117331, 1
645350117332 2
645350117332
645350117334 4

Question Number : 49 Question Id : 64635029888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117331 1
648350117332 2
453501173222 =
645350117324 4

Question Number : 50 Question Id : 64635029889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is SWAYAM?

(1) Non-Governmental Organisation
(2) Digital Programme to achieve the principles of education
(3) On-line platform

(4) Name of a web site

Options:

645350117335 1
645350117336 2
4835011732327 2
645350117223 4

Question Number : 50 Question Id : 64635029889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:
402350117235 1
646350117336 2
646350117237 3
645350117238, 4
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Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 6463501452
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635029890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which 1s the most appropriate mode of entry in international business to an enterprise
with little experience of international markets?

==t

Acquisition
2. Strategic Alliance

3. Joint Venture

4.  Exporting

Options:

645350117339 1
648350117340 2
45350117241 =2
645350117342 4

Question Number : 51 Question Id : 64635029890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350117329 1
645350117340 2



E45350117341. =
645350117342 4

Question Number : 52 Question Id : 64635029891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One belt, one road imtiative (BRI) 1s NOT intended to

—
.

trade protectionism
2. strengthening logistic and supply chain
3.  improve cost competitiveness

4.  rebalance trade dominance

Options:

645350117343 1
648350117344 2
45350117245 =
645350117346 4

Question Number : 52 Question Id : 64635029891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350117343 1
645350117344 2
645350117345
645350117346 4

Question Number : 53 Question Id : 64635029892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



After US dollar, which of the following currencies has largest weightage in determining
the value of SDR?

1. Japanese Yen
2. Chinese Yuan (Renminbi)
3. Euwro

4. British Pound

Options:

645350117347 1
483501173248 2
45350117249 =
645350117350 4

Question Number : 53 Question Id : 64635029892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g U9, SIeR & 91g, Fofafed § 3 »H-9 gz vy, €. 3R, & g &1 FHuiiva o § gafite
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Options:

645350117347 1
483501173248 2
45350117249 =
645350117350 4

Question Number : 54 Question Id : 64635029893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following institutions 1s NOT a part of World Bank group?

1. International Development Association (IDA)

(g

International Monetary Found (IMF)
3.  International Finance Corporation (IFC)

4. Multilateral Investment Guarantee Agency (MIGA)

Options:

645350117351 1
645350117352 2
645350117353
645350117354 4

Question Number : 54 Question Id : 64635029893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117351, 1
645350117352 2
645350117352
645350117354 4

Question Number : 55 Question Id : 64635029894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one 1s NOT true regarding the Market Stabilization Scheme (MSS)?

1. It absorbs surplus liquidity of enduring nature arising out of large capital
flows

2. It absorbs surplus liquidity through sale of short-dated government
securities and treasury bills

3.  Mobilised surplus liquidity is held in the MSS account with the Reserve
Bank of India

4, MSS account liquidity can be used for normal government expenditure of
capital nature
Options:
646350117355, 1
646350117358, 2
646350117357, 3
646350117358, 4

Question Number : 55 Question Id : 64635029894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117355 1
648350117356 2
45350117357 2
645350117358 4

Question Number : 56 Question Id : 64635029895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Quantitative import restrictions that limmt the quantity of a produet being imported is
called

—_—

embargo
2. quota

3. trade restraint

e

import tanff

Options:

645350117359 1
645350117360 2
645350117361, =
48350117362 4

Question Number : 56 Question Id : 64635029895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117359 1
645350117360 2
645350117361, =
48350117362 4

Question Number : 57 Question Id : 64635029896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Reserve Bank of India 1s an important regulatory and admmstrative
authority to execute FEMA provisions.

Reason (R) : Being monetary authority and custodian of foreign exchange, Reserve
bank of India enjoys requisite expertise of FEMA administration.

In the context of the above two statements, which one of the following option is
correct?

1. Both (A)and (R) are correct and (R) is the right explanation of (A)
2. Both (A)and (R) are correct but (R) 1s not the right explanation of (A)
3. Both(A)and (R) are incorrect

4. (A)is correct and (R) is not correct

Options:
E4E3E0117362. 1

E4E350117364. 2
E45350117365. 2
645350117366, 4

Question Number : 57 Question Id : 64635029896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117363 1
48350117364 2
453501173265 =2
645350117366 4

Question Number : 58 Question Id : 64635029897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is true about India Trade Policy (Export-Import), 2015-2019?

(a) Doubling the exports (both merchandise and services)

(b) Achieve 3-5% share in global exports

(¢} Introduced two new schemes (MEIS and SEIS)

(d) Introduced simplified Aayat-Niryat Form

Choose the correct answer from the following :
1. (a)and (b) only
2. (a)and (c) only

3. (a),(b)and(c)only

4.  All are correct

Options:

45350117367 1
645350117368 2
645350117369
645350117370 4

Question Number : 58 Question Id : 64635029897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117367 1
645350117368 2
648350117369 =
645350117370 4

Question Number : 59 Question Id : 64635029898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List—I List—II
(Trade and Finance Institution) (Headquarters)
(a) WTO (1) Brussels
(b) IMF (11) Geneva
(c) FAO (111) Washington
(d) EU (iv) Rome

Choose the correct option from those given below :
1. (a)-(); (b)-(ui); (c)-(v); (d)-()
2. (a)(1); (b)HiD); (e){iit); (d)-(v)
3. (a)p); (b)-(); (e)-1); (d)-(v)
4. (a)-), (b)—i); (¢)-(i1); (d)-(v)
Options:
£48350117371. 1
£48350117372. 2

645350117373 3
E4E350117374. 4

Question Number : 59 Question Id : 64635029898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)-(); (b)-(u); (e)-Gv); (d)-(G)
2. (a)-); (b)—1); (¢)11); (d)-(v)
3. (a)y(u); (b)-(1); (¢)-(1); (d)-Gv)
4. (a)-1); (b)(ii); ()—(ii); (d)—v)

Options:

64E350117371. 1

645350117372 2

E4E350117373. 2
E45350117374. 4

Question Number : 60 Question Id : 64635029899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s an instance of non-conventional dumping?

1.  Sporadic dumping
2. Predatory dumping
3.  Reverse dumping

4. Persistent dumping

Options:



E4E350117375. 1
EAE350117376. 2
645350117377 3
645350117378 4

Question Number : 60 Question Id : 64635029899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117375 1
645350117376 2
645350117377 2
645350117378 4

Question Number : 61 Question Id : 64635029900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A ‘sale and lease back’ arrangement 1s more suitable for a lessee having

===

liquidity crisis
2. surplus fund
3.  hugh profit

4. no-profit no-loss

Options:

48350117379 1
645350117280 2
645350117381 5
645350117382 4

Question Number : 61 Question Id : 64635029900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117379 1
645350117380 2
6483501173281 =2
45350117282 4

Question Number : 62 Question Id : 64635029901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following tvpes of goodwill 1s considered to be the best?
1. Dog goodwill
2. Cat goodwill
3.  Rat goodwill

4. Cow goodwill

Options:

645350117382 1
645350117384 2
645350117385 =
483501173586 4

Question Number : 62 Question Id : 64635029901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117383 1
48350117384 2
453501173285 =2
6453501173586 4

Question Number : 63 Question Id : 64635029902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Redeemable preference shares of T 2,00,000 are to be redeemed at par for which fresh
equity shares of ¥ 80,000 are issued at a discount of 10%. What amount should be
transferred to Capital Redemption Reserve Account?

1. 2,00,000

2. %1,20,000
3. 21,28,000

4. 72,000

Options:

6453501172387 1
645350117388 2
645350117389 2
645350117390 4

Question Number : 63 Question Id : 64635029902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 22,00,000
2. ¥1,20,000
3. 1,28,000
4. 372,000

Options:

645350117387 1
645350117388 2
45350117289 =
645350117290, 4

Question Number : 64 Question Id : 64635029903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  Af times, a business may face the situation where it has to shut down
its operations.

Reason (R) : If the revernue is less than ifs vanable cost, the operation should be
closed down.

In the context of the above two statements, which one of the following codes is correct?
1.  (A)is correct but (R) 1s not correct
2. (A)yand (R) both are correct and (R) 1s the right explanation of (A)
3. (A)and (R) both are correct and (R) is not the right explanation of (A)

4. Both (A) and (R) are incorrect

Options:

645350117391 1
645350117392 2
453501173292 =
645350117294 4



Question Number : 64 Question Id : 64635029903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117391 1
645350117392 2
646350117392 2
6483501173294 4

Question Number : 65 Question Id : 64635029904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per Section 52 of the compames Act, 2013, the balance in the Security Premum
Account cannot be utilized for

1.  payment of dividend
2. wrting off discount on issue of shares
3. 1ssue of fully paid-up bonus share

4. capital losses
Options:
646350117395 1
646350117396, 2
646350117397, 3
646350117398, 4



Question Number : 65 Question Id : 64635029904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350117395 1

E4E350117396. 2
E4E350117397. 2
6453501173958, 4

Question Number : 66 Question Id : 64635029905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Product A requires 10 kg of material at the rate of T 5 per kg. The actual consumption
of material for the manufacturing of product A comes to 12 kg of material at the rate of
2 6 per kg. Direct matenal cost variance 1s

1. T 22 (favourable)
2. %22 (unfavourable)
3. 12 (favourable)

4. 12 (unfavourable)

Options:

645350117399 1
645350117400 2
648350117401 =2
45350117402 4

Question Number : 66 Question Id : 64635029905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. 322 (3039
2. % 22 (vidg)
3. % 123090

4. T12 (vidga)
Options:

E4E350117399. 1
E4E35011 7400 2
645350117401, =
645350117402 4

Question Number : 67 Question Id : 64635029906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A statement of change in financial position typically would NOT disclose the effect of
1. share capital issued to acquire productive facilities
2. dividends on share declared
3.  cash dividend declared but not yet paid

4.  purchase and retirement of treasury stock

Options:

648350117402 1
45350117404 2
645350117405 5
645350117406 4

Question Number : 67 Question Id : 64635029906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117403 1
648350117404 2
45350117405 =2
645350117406 4

Question Number : 68 Question Id : 64635029907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the rights of a Statutory Auditor?
(a) Toreceive remuneration
(b) To attend Board of Doctors® Meeting
(¢c) To attend the General Meeting

(d) To wvisit the branch office

Choose the correct answer from the following :
1. (a)and(b)
2. (a),(b)and(d)

3. (a), (c) and (d)

4. (a), (b), (¢)and (d)

Options:
645350117407, 1

E4E35011 7408, 2
E45350117409. =
EAE350117410. 4

Question Number : 68 Question Id : 64635029907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frafed § 8 oH-9 ifafie dares & sfier §?
(a) OIS v &
(b) FoT®-7sd I 955 H HFT T
(¢)  3THIZH H HFT 1

(d) G SETET BT ERT ST

Fafataa 5 © a8 e o1 997 St :
. (a) 3 (D)
2. (a), (b) AR@

(), (¢) 3R (d)

o

4. (a), (b),(c)3MR(d)

Options:

645350117407, 1
645350117408 2
645350117409 =
645350117410 4

Question Number : 69 Question Id : 64635029908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-—I List-II
(a) Ind AS-16 (1)  Income tax
(b) Ind AS-38 (1) Leasing
(¢) Ind AS-17 (1) Intangible assets
(dy Ind AS-12 (iv)  Property, plant and equipments

Choose the correct option from those given below :
. (a)-(v); (b)iit); (e)-); (D11)
2. (a)-v); (b)-(uu); (e)—(n); (d)—1)
3. (a)-(ui); (b)—); (e)-v); (d)—1)
4. (a)-Qv); (b)-(m); (c)-); (d)~(111)

Options:

645350117411 1
648350117412 2
45350117412 =
645350117414 4

Question Number : 69 Question Id : 64635029908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tat-1 ot gat-11 3 gafera sifen
-1 JR-11

(a) IndAS-16 i)  emg-m

(b) Ind AS-38 (i) UZAEE

(¢) IndAS-17 (iii) e ofvmfear

(d) Ind AS-12 (iv) w999 3R U0
1 fou MU faeed ° | 981 ST ST 999 Bl ;

L. (a)-Qv); (b)-ur); (¢)-1); (D))
2. (a)v); (0)-i); ()-); (D)
3. (a)-(i); (b)-(ii); ()—(iv); (d)~1)
4. (a-v); 0)-); (¢)-); (d)-1)

Options:

645350117411 1
648350117412 2
45350117412 =
645350117414 4

Question Number : 70 Question Id : 64635029909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the steps in the activity-based cost allocation :
(a) Identification of the main activities
(b) Collection of cost pool
(¢) Determination of the activity cost drivers
(d) Calculation of activity driver rate
(e) Charging the cost of activities to products

Select the correct sequence of the above steps :

L. (@), (b),(c), () (d)
2. (a),(b),(e), (d),(c)
3. (a),(b). (), (d), (e)
4. (a), (), (c), (b), (e)

Options:

645350117415 1
645350117416 2
648350117417 =2
45350117418 4

Question Number : 70 Question Id : 64635029909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



PHTdeHETT TG g 3eie # Frufifad R g &
(a) TSI sHGAY DI U=
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(¢) DHHANY ard AHURS! B1 AHYE e
(d) DHHAY AN AHURSD! H1 U X
(e) PHGAUI Bl AN IdTGl U WHIRG BT

IUYH & TE HH BT TG BT :
L. (@), ®), (), (&), (@
2. (a) () (e), (d), ()
3. (@) (D). (c), (d),(e)
4. (&) (@), (c), (b), ()

Options:

645350117415 1
645350117416 2
645350117417
645350117418 4

Question Number : 71 Question Id : 64635029910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following commodities, when a consumer spends so much that negative
income effect overwhelms the positive substitution effect so as the underlying demand
curve 1s positively sloped?

1. Inferior goods

2. Superior goods

3. Giffen goods

4. Normal goods

Options:
645350117419 1



EAE350117420 2
645350117421, =
645350117422 4

Question Number : 71 Question Id : 64635029910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frofafed # | 59 oxg # o9 &% IuHie 3a-1 SIe] T o3l € & FUTES 31 THE
YD TIaRITTT THIT 1 81 odl & alie ST HIT 9% DI oTd Y= 8 og?

1. frorwgt
2. TP Iy
3. e U

4. THERY TEU

Options:

645350117419, 1
645350117420 2
645350117421 5
645350117422 4

Question Number : 72 Question Id : 64635029911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Find the marginal revenue of a firm that sells a product at a price of T 10 and the price
elasticity of demand for the productis (—) 2.

l. =3
2. =10
3. 30
4. =215

Options:
42350117422 1

EAE35011 7424 2
645350117425 =
645350117426, 4

Question Number : 72 Question Id : 64635029911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B3 BH (Bl JaTg BT 210 F Hed U 99t 8 3R 39 IAIE & [o/ AT &1 Jed @ () 2 8,

dl 39 BH &1 Higr o R |
1. e
2. %10
I
4. 213
Options:

E4E350117423. 1
EAE35011 7424 2
645350117425 3
645350117426, 4

Question Number : 73 Question Id : 64635029912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Excess capacity 1s NOT noticed in which of the following market conditions?
1. Monopoly
2. Monopolistic competition
3. Oligopoly

4. Perfect competition

Options:

648350117427 1
45350117428 2
645350117429 5
645350117420 4

Question Number : 73 Question Id : 64635029912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. USHeR

2. USSR uiaate
3. ISR

4. gof gicEifan

Options:

645350117427 1
645350117428 2
645350117429
648350117430 4

Question Number : 74 Question Id : 64635029913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s NOT the pre-requisite of price discrimination?
1.  Firm must have monopoly power
2. Product have multiple close substitutes and different uses
3.  Markets are separated and segmented

4.  Price elasticity of product must differ in different markets

Options:

645350117421 1
645350117432 2
645350117433 =
645350117434 4

Question Number : 74 Question Id : 64635029913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117421 1
645350117432 2
645350117433 =
648350117434 4

Question Number : 75 Question Id : 64635029914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—IT :

List—I List—II
(Theories of Profit) (Economists)
(a) Risk theory of profit (1) Schumpeter

(b) Innovation theory of profit (11) Walker
(¢) Renttheory of profit (111) Hawley

(d) Dynamic theory of profit (iv)  Clark

Choose the correct option from those given below :
L. (@)-(m); (b)-(v); (c)-(1), (d)—1)
2. (a)-v); (b)-G1); (c)-Git);, (D)
3. (a)-(u); (b)-Q); (¢)-11); (d)-(v)
4. (@-v); (b)—H1); (e)-(id); (d)iii)
Options:
646350117435, 1
646350117436, 2

E4E350117437. 2
EAE350117438. 4

Question Number : 75 Question Id : 64635029914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T B 11 @ AR SR
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(d) @@ Tioe e (iv) o>
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1. (a)-(ui); (b)-(v); (c)-(1); (d)—1)
2. (a)-v); (0)-(); (o)), (D)D)
3. (a)-); (b)-Q); (e)(1); (D)
4. (@-v); (b)-(1); ()—(11); (d)ii)

Options:

645350117435 1

E4AE350117436. 2

E4E350117427. =
E4E350117438. 4

Question Number : 76 Question Id : 64635029915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following pricing policies, a firm charges higher initial price for the
product and reduces it over time as the demand at higher price is satisfied?

1.  Peak load pricing
2. Incremental pricing
3. Skimming

4. penetration pricing



Options:

645350117439 1
648350117440 2
45350117441 =
645350117442 4

Question Number : 76 Question Id : 64635029915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFofeied stra-FuRo Sifoal § 3 f5ad o5 wH Iar & i 3= oRfye simg 3gd
T ¢ 3R o9 T S 1Hd TR HiT WP 8 9 €, I 99 dicn & WY S9! Sd 9T gl 87

. =RHHR W SIHG-HYRom
2. giexia oma-FHuRo

3. féwan

4. YA SHiHG-FuRor

Options:

645350117439 1
645350117440 2
648350117441 =
645350117442 4

Question Number : 77 Question Id : 64635029916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under which of the following situations, economies of scale exists to the potential and
persists?

1.  When firm is too small and too specialized

2. When firms’ decision to hire inputs do not result in an increase in the input
costs

3. When firm 1s too large and overdiversified

4. When long-run cost of producing a umt falls as the output increases

Options:
42350117442 1

EAE35011 7444 2
645350117445 =
645350117446, 4



Question Number : 77 Question Id : 64635029916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frofafea o 3 forg fRufa @ 8 999 R Iae 3 gufaa 3= ordt § ok &1t 3gdt &2
1. TN%HIgd Bl 3R ot faenfied &

2. 9 IEH B BN W o7 & BH & vy & oiomasy sem @l © 3iE
el giel 8

3.  EBH 9gd ge R offe Rfafea g

4. W?ﬁmlgﬁdﬂltﬁ HI- D G@a® ard 3G Sg- & 91y IR
UG

Options:

645350117443 1
648350117444 2
E4E350117445 =
645350117446, 4

Question Number : 78 Question Id : 64635029917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The essence of the law of dimmnishing returns 1s
1. inelastic production

2. negative marginal production

3. decliming total production

o

dechining average production

Options:

648350117447 1
645350117443 2
645350117449
645350117450 4

Question Number : 78 Question Id : 64635029917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117447 1
648350117448 2
645350117449 5
645350117450 4

Question Number : 79 Question Id : 64635029918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : U-shaped long-run average cost curve is based on the assumption that
economies of scale prevails at small levels of production and
diseconomies of scale prevails at larger level of production.

Reason (R) : Decreasing returns to scale arises primarily because as the scale of
operation increases, it becomes even more difficult to manage the
firm effectively.

In the context of the above two statements, which one of the following codes is correct?
1. Both(A)and (R) are correct and (R) is the right explanation of (A)
2. Both (A) and (R) are correct and (R) is not the right explanation of (A)
3. (A)is correct and (R) 1s not incorrect

4. Both (A)and (R) are incorrect

Options:
645350117451 1
645350117452 2



E45350117453. 2
645350117454 4

Question Number : 79 Question Id : 64635029918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THHUT (A) : U-31Sid aTdl Sradiiee 3 ad @Td a8 59 YdUTRUT U 3eid ¢ & 88
UHH TR 3qGH @ 999 (SHHMAS 3 Wd) SdleT & S Wl W
vrIferd gt € oM 99 UHF IR 3@ ! sadeHal (usa e 3ih
W) IUGH & 93 W11 R v gt 2

a% (R) . UOF & gcd vidmd geadr S48 39 8id & Jiie oh-o 3G @1
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gl fasen g

1. (A)RE) FTRTIR(R), (A) I Thament

2. (A)ME®) FM TR TRYR), (A) P& e = e
3. (A) FWIEMRE®) TGS

4. (A) SR (R) Gl e §

Options:

648350117451 1
45350117452 2
645350117452 5
645350117454 4

Question Number : 80 Question Id : 64635029919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-1 List—II
(Objectives of business firms) (Hypothesis)

(a) Maximization of firms” growth rate (1)  Baumol’s hypothesis

(b) Managerial utility function (11)  Marris hypothesis
(¢) Satisfying behaviour (111)  Williamson hypothesis
(d) Sales Maximization (iv)  Cyert-March hypothesis

Choose the correct option from those given below :
L. (a)-Qi); (b)-{un); ()~v); (DD
2. (a)-(ir); (B-Qv); (e)-); (d)-(D)
3. (a)-v); (b)—1); ()-(u); (d)~(iiD)
4. (a-@0); (B~1w); ()—ui); (D—1v)
Options:
646350117455, 1
646350117456, 2

645350117457, 2
645350117458 4

Question Number : 80 Question Id : 64635029919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) WH A gfg Rl eflieadeor ()  SHE TR
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. (a)-Qi); (b)-(11); ()-(iv); (D7)
2. ()i, (0)-v); ()-@); (d)—)
3. (@-av); (b)-Q); ()-); (d)-(iin)
4. (a)-(); (b)—(1); (c)iid); (d)—(iv)

Options:

648350117455 1
45350117458 2
645350117457 5
645350117458 4

Question Number : 81 Question Id : 64635029920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Under which of the following situations, the decision outcome on evaluation of
investment opportunities vary under NPV and IRR methods per se?

(a) Time disparity
(b) Cost disparity
(¢) Life dispanty
(d) Volume disparity
Choose the correct combination of situations :
1. (a)and (d) only
2. (b)and (d) only
3. (a), (b)and(c)only
4. (b), (c)and (d) only

Options:
453250117459 1

E4EZ5011 7460, 2
E4E350117461. =
645350117462 4

Question Number : 81 Question Id : 64635029920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a) 994 Awwan

(b) @ R

(¢) dita= fawma
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1. &ad (a) 3R (d)
2. Fad (b) &R (d)
3. &9 (a), (b) 3R (¢)
4. @ (b), () IR (@

Options:
642350117459, 1

EAE35011 74600 2
645350117461, =
645350117462 4

Question Number : 82 Question Id : 64635029921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) :  According to Net Income (NI) approach, capital structure decision is
relevant in the valuation of firm.

Reason (R) : A firm can change its total value and its overall cost of capital by
change in the degree of leverage in its capital structure.

In the context of the above two statements, which one of the following options i1s
correct?

1.  Both (A)and (R) are correct and (R) 1s the right explanation of (A)
2. Both (A) and (R) are correct and (R) is not the right explanation of (A)
3. Both (A) and (R) are incorrect

4. (A)is correct and (R) is not correct

Options:

645350117462 1
645350117464 2
645350117465 =
645350117466 4

Question Number : 82 Question Id : 64635029921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117463 1
645350117464 2
648350117465 =2
45350117466 4

Question Number : 83 Question Id : 64635029922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A firm consumes 90000 umts of a certain item of raw material in its production process
annually. It costs T 3 per umit, the cost per purchase order is T 300 and the inventory
carrying cost 1s 20% per year. What is the EOQ?

1. 9470 units
2. 9487 units
3. 9480 units
4. 9840 units

Options:
645350117467, 1

E4AEZ5011 7468, 2
E4E350117469. =
EAE35011 7470, 4



Question Number : 83 Question Id : 64635029922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HS BH U I Uiea H 9ite ®U § = "9 S Al "5 B 90000 SHEAT B
JUAN Al g1 Uid 3o i 2 3, Ufd $a e AT 2 300 9UT Sd3l 98 @ 20%

yfdaT g1 fygerdt sme=r A @, ot &) faet 82
1. 9470 Z@Tal
2. 9487 @Al

3. 9480 gorsAl

4. 9840 F@TAT
Options:
£46350117467. 1
£46350117468. 2
£46350117469. 3
£46350117470. 4

Question Number : 84 Question Id : 64635029923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A company issues 10% irredeemable preference shares. The face value per share is
X 100, but the issue price is X 95. What is the cost of preference share?

1. 10-63%
2. 10-73%
3. 10:83%
4. 10:33%

Options:

648350117471 1
48350117472 2
645350117472 5
645350117474 4

Question Number : 84 Question Id : 64635029923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.  10:63%
2. 10-73%
3. 10-83%
4.  10-33%

Options:

645350117471 1
645350117472 2
645350117473
645350117474 4

Question Number : 85 Question Id : 64635029924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II :

List-I List—II
(a) Netincome approach (1}  Inventory management
(b) Gordan model (1) Capital budgeting
(¢) Internal rate of return (111)  Capital structure theory
(d) Reorder level (lv) Dividend theory

Choose the correct option from those given below :
L. (a)-(); (b)—); (e)-(v); (1)
2. (a-uy (v, (e)-G1); (D)
3. (a)-(u); (b)-(v); ()-1); (d)11)
4. (@) (b)—1); (©—(1v); (D))
Options:

645350117475, 1
645350117476, 2



EAE350117477. 2
645350117475 4

Question Number : 85 Question Id : 64635029924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 &1 GHI-11 | gAfera Hifer :
-1 -1

(a) ad@ ema IurTH @) g uEYT
(b) & Hise (i) deit e
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1. (a)-); (b)-n); (¢)-(v); (d)-1)

2. (a)y-(u); (b)-Qv); (e)-();, (d)-1)
3. (a)y-(m); (b)-Qv); (c)-Q); (D)

o

(a)-(1); (b)~1); (c)—(iv); (d)-{iii)

Options:

645350117475 1
645350117476 2
648350117477 2
645350117473 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Currency swap is a method of
1.  hedging against foreign exchange risk
2. speculating in foreign exchange
3.  leverage instrument used by cooperative banks

4. mode of payment in international trade

Options:

648350117479 1
45350117420 2
645350117481, 5
645350117482 4
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Options:

648350117479 1
45350117420 2
645350117481, 5
645350117482 4
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Capital structure and leverage decisions come in the ambit of

e

mvestment decisions
2 distribution decisions
3.  financing decisions

4. dividend decisions

Options:

645350117483 1
648350117434 2
45350117485 =
6453501174586, 4

Question Number : 87 Question Id : 64635029926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

645350117483 1
645350117434 2
648350117485 =
645350117456, 4
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The current market price of a company’s share 1s < 90 and the expected dividend per
share next vear 1s < 4-5. If the dividend 1s expected to grow at a constant rate of 8%, the
shareholder’s required rate of return will be

1. 8%
2. 5%
3. 20%
4.  13%

Options:

645350117487 1
648350117488 2
453501174289 =2
6453501174390, 4

Question Number : 88 Question Id : 64635029927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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1. 8%
2. %
3. 20%
4.  13%

Options:

645350117487 1
6453501174388 2
648350117459 =
6453501174390, 4
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Miller-Orr model is used in the management of
1. inventory
2.  leverage
3.  receivables

4.  cash

Options:

645350117491 1
645350117432 2
645350117433 =
648350117494 4

Question Number : 89 Question Id : 64635029928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350117491 1
E4E350117492 2
645350117492
645350117494 4
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Which one of the following analyses is suitable for risk-return analysis in financial
decisions?

1. CAPM analysis
2. SWOT analysis
3.  Capital gearing

4. EVA analysis

Options:

6453501174935 1
648350117498 2
E4E350117497 =2
645350117498 4

Question Number : 90 Question Id : 64635029929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501174935 1
648350117498 2
645350117437 5
645350117498 4
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The arithmetic mean of 10 items 1s 50. If each item 1s increased by 5, then new
arithmetic mean would be

., 30
2. 35
3. 60
4. 45

Options:
645350117499, 1

E4EZ50117500. 2
E45350117501. 2
645350117502 4

Question Number : 91 Question Id : 64635029930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 30
2. 53
3. 60
4. 45

Options:

648350117499 1
45350117500 2
645350117501 5
645350117502 4
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If two regression coefficients are —0-8 and —0-2, then the value of coefficient of
correlation 1s

1. =016
2, =0:50
3. +0-40
4. —0-40

Options:

645350117502 1
645350117504 2
645350117505 =
46350117506 4

Question Number : 92 Question Id : 64635029931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Tfe; S AT T —0.8 3R —0.2 & T =0 Ui &1 91 §

L. ~i-15
2. -0-50
3. +0-40
4.  —0-40

Options:

648350117502 1
645350117504 2
645350117505
645350117506 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Statement (I) : The arithmetic mean 1s an all purpose average.
Statement (II) : Median and mode are called positional averages.

In the context of the above two statements, which one of the following codes is correct?
1.  Both the statements (I) and (II) are correct
2. Both the statements (1) and (II) are incorrect

Statement (I) i1s correct but (II) 1s incorrect

= L

Statement (II) 1s correct but (I) 1s incorrect

Options:

648350117507 1
45350117508 2
645350117509
645350117510 4

Question Number : 93 Question Id : 64635029932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117507 1
648350117508 2
45350117509 =2
645350117510, 4

Question Number : 94 Question Id : 64635029933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I Last-II
(@) j= X M, (1)  Kelly’s coefficient of skewness
G
-0 -2M o
(b J= 0 -0 : (ii) Bowley’s measure of skewness
Q; o Ql
B 4P ~2F
(c) j=—22—10 — 20 (iii) Karl Pearson’s coefficient of
Fog —Fy skewness

Choose the correct option from those given below :
(a)-(u1); (b)-(1); (¢)-(1)
2. (a)id); (b)-@); (e)ii)
3. (a)-@); (b)) ()—ii)
4. (a)-w); (0)—1); (e)—ii)
Options:
646350117511, 1
646350117512 2

645350117513 =2
645350117514 4

(=1
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1. (a)-@b); (b)-(1); ()1
2. (a)y-(m); (b)—1); (c)-(12)
3. (a)-Q); (b)—1); (c)—(u1)
4. (a-(); (b)1); (c)(u1)

Options:

645350117511 1
645350117512 2
6463501175132 =
648350117514 4

Question Number : 95 Question Id : 64635029934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the probability that sum of outcomes on pair of dice 1s equal to 8?

l. 636
2. 336
3. 4/36
4. 3/36

Options:

645350117515 1
645350117516 2
645350117517 2
646350117518 4

Question Number : 95 Question Id : 64635029934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 6/36
2. 5136
3.  4/36
4.  3/36

Options:

645350117515 1
645350117516 2
646350117517 2
48350117518 4
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Correct Marks: 2 Wrong Marks: 0



Which of the following are considered non-parametric tests?
(a) Mann-Whitney U test
(b) Kruskal-Wallis test
(¢) F-test
(d) T-test
(e) Chi-square test

Choose the correct option from the following :

)

(a), (b) and (e)

2. (a)(b)and(c)

3. (a),(b),(c)and (d)

4. (a),(b),(c), (d) and (¢)

Options:

45350117519 1
645350117520 2
645350117521
645350117522 4

Question Number : 96 Question Id : 64635029935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117519 1
645350117520 2
646350117521 =2
48350117522 4
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Study the following information :
Covariance between X and ¥ series =—17-8
Standard deviation of X series = 6-6
Standard deviation of ¥ series = 4-2

No. of pairs of observation =20

The coefficient of correlation 1s

1. —f642
2. 0642
3. 0233
4. —-0-253

Options:

645350117523 1
645350117524 2
45350117525 =2
645350117526, 4

Question Number : 97 Question Id : 64635029936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. -0-642
2. 0-642
3. 0253
4 —0:253
Options:
645350117523 1
645350117524 2
645350117525 =
48350117526 4
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Correct Marks: 2 Wrong Marks: 0



Which of the following are NOT sources of secondary data?
(a) Interview
(b) Questionnaire

(¢) Observation
(d) Unpublished thesis

(e) Annual report

Choose the correct option from the following:
1. (a),(d)and(e)
2. (b),(c)and(d)

3. (e) (dand(e)

4. (a), () and(c)

Options:

45350117527, 1
645350117528 2
645350117529
645350117530 4

Question Number : 98 Question Id : 64635029937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117527 1
645350117528 2
646350117529 =
45350117520 4
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For a very large population the ratio between SE; and ¢ 1s 8 : 40. The Sample size »
will be

1 5

2 25
3: 32
4. 48

Options:

645350117521 1
645350117532 2
6463501175332 2
648350117524 4

Question Number : 99 Question Id : 64635029938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 5

2 25
3. 32
4, 48

Options:

645350117531 1
648350117532 2
645350117522 5
645350117524 4
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Correct Marks: 2 Wrong Marks: 0



Statement (I) : #test and F-test are based on the identical assumptions.

Statement (II) : #-test 1s used for comparison between two groups whereas F-test 1s used
for comparison between more than two groups.

In the context of the above two statements, which one of the following codes 1s correct?
1.  Both the Statements (I) and (II) are correct
2. Both the Statements (I) and (II) are incorrect
3.  Statement (I) 1s correct but (IT) 1s incorrect

4.  Statement (II) 1s correct but (I) 1s incorrect

Options:

645350117535 1
645350117536 2
645350117537 2
483501175328 4

Question Number : 100 Question Id : 64635029939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350117535 1
645350117536, 2



E45350117537. 2
645350117538 4

Question Number : 101 Question Id : 64635029940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Promoting team spirit, harmony and umty within the orgamzation 1s the principle of
1. order
2. scalar chain
3.  spint de corps
4. equity

Options:

645350117529 1
645350117540 2
645350117541 =2
648350117542 4

Question Number : 101 Question Id : 64635029940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117529 1
645350117540 2
645350117541 =
645350117542 4
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Correct Marks: 2 Wrong Marks: 0



Organization structure that shows a unique combination of strategy, structure and
management process 1s known as

1.  free-form organization
2. virtual orgamzation

3.  network orgamzation
4.  horizontal organization

Options:

645350117543 1
648350117544 2
45350117545 =
645350117546, 4

Question Number : 102 Question Id : 64635029941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117543 1
648350117544 2
45350117545 =
645350117546, 4
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Correct Marks: 2 Wrong Marks: 0



The social environment of the job affects people and 1s also affected by them and not
by management alone, is the main proposition of

1. contingency theory of orgamization
2. system theory of organization
3. classical theory of orgamzation

4. Neo-classical theory of organization

Options:

645350117547 1
645350117548 2
6453501175493 =2
48350117550 4

Question Number : 103 Question Id : 64635029942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117547, 1
645350117543 2
645350117549
645350117550 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Motivation-force or level of efforts 1s not equal to satisfaction and performance’is
propounded by

1. Porter-Lawler model

2. Vroom’s expectancy theory
3. XandY theory

4.  Adam’s equity theory

Options:

645350117551 1
645350117552 2
645350117553
645350117554 4

Question Number : 104 Question 1d : 64635029943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117551, 1
645350117552 2
645350117552
645350117554 4
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Correct Marks: 2 WrongMarks: 0



List out from the given statements the impotant ethical principles that a business should
follow :

(a) To take the necessary action for the development of the concerned industry
or business.

(b) Pay taxes and discharge other obligations promptly.
(¢) To ensure the best utilisation of the human resources.

(dy Refrain from secret kickbacks or pay-offs to customers, suppliers,
administrators, etc.

(e) Ensure payment of fair wages and fair treatment of employees.

Choose the correct answer from the options given below :
1. (c),(d)and(e)
2. (b).(d)and(e)

3.  (a), (b)yand(c)
4. (a), (c) and (¢)

Options:

645350117555 1
646350117556 2
648350117557 2
645350117553 4

Question Number : 105 Question Id : 64635029944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350117555 1
45350117558 2
645350117557 5
645350117558 4
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Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-=II
(a) Fiscal, monetary and industrial (1)  Social responsibilities
policies
(b) Social obligations towards (11)  Stakeholders/interest group
several stakeholders
(¢) Consumers, shareholders, (111)  Business ethics

suppliers, creditors etc.

(d) Moral principles that defines (iv)  Economic policies
the night or wrong

Choose the correct option from those given below :
L. (a)-(u); (b)-(); (0)-v); (d)-(1)
2. (a)-Q); (b)-); ()—v); (d)-(ui1)
3. (a)-); (b)-Gv); (e)-(un); (d)-(1)
4. (a)-v); (b)-(); (c)—(ib); (d)-(iii)

Options:

645350117559, 1
645350117560, 2
645350117561 5
645350117562 4

Question Number : 106 Question 1d : 64635029945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (@)-i); (b)-@); (e)-(iv); (d)-(u)

2. (&)@ (b)ii); (0)(iv); (d)-(iii)

3. (a-w); (D)v); (o)-u); (D)-

4. (@)-1v); (b)—(1); (e)(i); (d)-(iii)
Options:

E4E350117559. 1
EAE3501175600 2
645350117561, 2
645350117562 4

Question Number : 107 Question 1d : 64635029946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The attitude based on beliefs, opinion, knowledge or information about the particular
event which the employees possesses is

1.  behavioural attitude
2. positive attitude
3.  cogmtve attitude

4. affective attitude

Options:
645350117563 1
648350117564 2



E4E350117565. 2
645350117566, 4

Question Number : 107 Question Id : 64635029946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E3E0117562 1

E4E350117564. 2
E45350117565. 2
645350117566, 4

Question Number : 108 Question 1d : 64635029947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Following are the events of an organizational culture :
(a) Customer orientation and employee policies
(b) Quality orientation, directing and motivating styles
(¢) Decision-making, products and services and responsibilities to society
(d)y Reaction to competitors and gratitude towards nation
(e) Role ambiguities, trade urnon and policies
Select the correct sequence for the above events :
1. (@), (®),(d) and (e)
2. (a),(c), (d)and (e)
3. (b),(c),(d)and (e)

4. (@), (b), (c)and (d)

Options:

645350117567, 1
645350117568 2
645350117569
645350117570 4

Question Number : 108 Question 1d : 64635029947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (a), (b), (o) MR (d)

Options:

645350117567, 1
645350117568 2
645350117569 2
645350117570 4

Question Number : 109 Question 1d : 64635029948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Brainstorming technique demands generation of a number of
alternatives to a problem.

Reason (R) : Participants generate as many alternatives as possible without
evaluating them in brainstorming sessions.

In the context of the above two statements, which one of the following codes is correct?
1.  Statement (A) 1s correct and (R) are 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) 1s not the nght explanation of (A)
3. Statement (A) 1s correct but (R) is incorrect

4.  Both (A) and (R) are correct

Options:

645350117571, 1
645350117572 2
645350117572
645350117574 4

Question Number : 109 Question Id : 64635029948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117571 1
645350117572 2
645350117573
645350117574 4

Question Number : 110 Question Id : 64635029949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Statement (I) : Though closely related, job evaluation and performance appraisal are
not the same.

Statement (II) : The purpose of job evaluation is to fix the remuneration and other
relevant benefits.

In the context of the above two statements, which one of the following codes 1s correct?

1.  Both the Statements (I) and (II) are correct

2. Both the Statements (I) and (II) are incorrect

3.  Statement (I) is correct, while Statement (II) 1s incorrect

4. Statement (I) is incorrect, while Statement (II) is correct

Options:

645350117575 1
645350117576 2
646350117577 2
45350117578 4

Question Number : 110 Question Id : 64635029949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117575 1
645350117576 2
645350117577 2
48350117578 4

Question Number : 111 Question Id : 64635029950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



New reform in Indian banking system include

(a) Digitisation of bank operations

(b) Banking consolidation

(¢c) Borrowing from Government

(d) Agency work

Choose the correct option from the following:

1. (a)and (b)

2. (c)and (d)

3. (b),(d) and (c)

4. (a), (c)and (d)

Options:

648350117579 1
45350117580 2
645350117581 5
645350117582 4

Question Number : 111 Question Id : 64635029950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. (a) 3R D)
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3. (b),(d R
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Options:

648350117579 1
45350117580 2
645350117581 5
645350117582 4

Question Number : 112 Question Id : 64635029951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the predecessor of the IRDA Act, 19997
1. The Insurance Act, 1938
2. The Life Insurance Corporation Act, 1956
3.  The Marine Insurance Act, 1963
4. The Public Liability Insurance Act, 1991
Options:

645350117583, 1
645350117584, 2



E45350117585. 2
645350117586, 4

Question Number : 112 Question Id : 64635029951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. offa= |\ = erfiEE, 1956
3. 9gias St srfaiaE, 1963
4. GG Suar s s, 1991

Options:

48350117582 1
45350117584 2
645350117585 5
645350117586 4

Question Number : 113 Question Id : 64635029952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are included in digital payment system?

(a) RTGS
(b) Demand draft
(¢) NEFT
(d) Cheque
Choose the correct option from the following:
. (), (c)and (d)
2. (b)and (d) only
3. (a)and(c) only
4. (b).(c)and (d)

Options:
645350117587 1



E4E350117588. 2
645350117589 =
645350117530 4

Question Number : 113 Question 1d : 64635029952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (b),(c) 3R (d)

Options:

45350117587 1
645350117588 2
645350117589
645350117590 4

Question Number : 114 Question Id : 64635029953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Chalapathi Rao Commuttee was constituted for restructuring of
1. State Financial Corporation in India
2. Commercial Banks in India
3.  Co-operative Banks in India
4.  Regional Rural Banks in India

Options:
645350117591, 1



EAE350117592. 2
645350117593, 2
645350117594 4

Question Number : 114 Question 1d : 64635029953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350117591 1
48350117592 2
645350117592 5
645350117594 4

Question Number : 115 Question Id : 64635029954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIDBI was set up as a subsidiary of IDBI to

1. takeover the functions of small business financing of [DBI

2. takeover the venture capital operation of IDBI

3.  reconstruct and rehabilitate the sick and closed industrial units financed by
IDBI

4. facilitate, finance and promote India’s foreign trade

Options:
645350117595 1



EAE350117596. 2
645350117597, 2
6453501175958 4

Question Number : 115 Question 1d : 64635029954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117595 1
645350117596 2
645350117597 2
645350117598 4

Question Number : 116 Question 1d : 64635029955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List=I wath List=II ;

List-I List—II
(a) Interbank call market (1) Money Market
(b)y Commercial bills (1)  Promissory note
(¢) Commercial papers (1)  Short-term matunty
(d) Treasury bills (iv) Government papers

Choose the correct option from those given below :
1. (@-0); )-); (e)~(1v); (d)-()
2. (a)-ui); (b)-1); (e)-1); (d-Gv)
3. (a); (b)-(u); (c)-v); (d)-G1)
4. (@)-av); (b)-(m); (¢)-(u); (d)-Q)
Options:
646350117599, 1
646350117600, 2

645350117601, =
645350117602, 4

Question Number : 116 Question 1d : 64635029955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) SN Hxl TR () & 9eR
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L. (@)-0); (b)-i); (c)-(v); (d)-(iii)
2. (a)-id); (b)-D); (¢)-1); (d)-(v)
3. (@-@); (b)-1D); (¢)-av), (d)-(1)
4. (a)-(v); (b)), ()-i); (d)-()

Options:

645350117599, 1
645350117600, 2
645350117601, =
645350117602 4

Question Number : 117 Question 1d : 64635029956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is used for international money transfer?

1. RTGS

2. NEFT

3. SWIFT
4. DD

Options:

645350117602 1
645350117604 2
645350117605 =
48350117606 4

Question Number : 117 Question 1d : 64635029956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350117603 1
645350117604 2
45350117605 =2
645350117606, 4

Question Number : 118 Question Id : 64635029957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT true about BASEL?

1. Imtially it was named as Committee of Banking Regulations and
Supervisory Practices (CBRS)

2. BASEL was established by the Central Bank Governors of fifteen countries
3. It was established by the end of 1974

4. Disturbances in international currency and banking markets were
responsible for 1ts establishment

Options:

645350117607, 1
645350117608 2
645350117609 =
645350117610 4

Question Number : 118 Question 1d : 64635029957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350117607, 1

E4EZ50117608. 2
E4E350117609. 2
645350117610 4

Question Number : 119 Question Id : 64635029958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s NOT a correct statement?

1.  Hedge funds are not mutual funds.
2. Hedge funds can be sold to public.
3. Investors in mutual funds must pay various fees and expenses.

4. Mutual funds provide economies of scale to investment decisions.

Options:

645350117611 1
645350117612 2
48350117612 =
645350117614 4

Question Number : 119 Question Id : 64635029958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117611 1
645350117612 2
645350117613 =
648350117614 4

Question Number : 120 Question Id : 64635029959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Credit worthiness score in India ranges between
1. 300to 600
2. 300 to 900
3. 500to 1000

4. 900to 1600

Options:

645350117615 1
48350117616 2
45350117617 =2
645350117618 4

Question Number : 120 Question Id : 64635029959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 3009600
2. 300900
3. 5009 1000
4. 900 1600

Options:
645350117615 1

E4AEZ50117616, 2
E4E350117617. 2
6453501176158, 4

Question Number : 121 Question Id : 64635029960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Peter F. Drucker noted the relationship between selling and marketing in which of the
following terms?

1.  Marketing is a subsidiary component of selling
2. The aim of marketing is to make selling superfluous
3.  The aim of selling is to make marketing superfluous

4. Selling and marketing are essentially the same thing

Options:

645350117619 1
645350117620 2
645350117621 =
645350117622 4

Question Number : 121 Question 1d : 64635029960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350117619 1
45350117620 2
645350117621 5
645350117622 4

Question Number : 122 Question Id : 64635029961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Shopping goods have which of the following features?

(a) These products are generally durable 1n nature

(b) Consumers generally compare the goods of various sellers and then buy
such goods

(¢)  Per umt price of these goods 1s generally high

(d) These goods are regularly and continuously in demand

(e) These goods are sold as a result of aggressive promotional efforts

Choose the right answer from the options given below :

. (c), (d)and(e)

2. (a), (b)and(c)

3. (b),(c)and(d)

4. (a), (c) and (¢)

Options:

48350117622 1
645350117624 2
645350117625
645350117626 4

Question Number : 122 Question Id : 64635029961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117622 1
645350117624 2
645350117625 =
645350117626 4

Question Number : 123 Question 1d : 64635029962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following reflects the sum of perceived tangible and intangible benefits
and costs to a customer?

1. Customer satisfaction
2. Customer delight
3. Customer value

4. Customer expectation

Options:

645350117627 1
645350117628 2
646350117629 2
483501176320 4

Question Number : 123 Question Id : 64635029962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117627 1
645350117628 2
646350117629 2
483501176320 4

Question Number : 124 Question Id : 64635029963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Building long-term mutually satisfying relations with key customers, suppliers,
distributors 1n order to earn and retain their long-term preference and business is known
as

1. relationship marketing
2. social marketing
3.  miche marketing

4. service marketing

Options:
645350117631, 1

EAEZ50117632. 2
E4E350117633. 2
645350117634 4

Question Number : 124 Question Id : 64635029963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117631, 1
645350117632 2
645350117632
645350117634 4

Question Number : 125 Question Id : 64635029964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The channel alternative is NOT to be assessed on the basis of
1. economic criteria
2. control criteria
3.  adaptive critenia

4. accumulation criteria

Options:

645350117635 1
645350117636 2
483501176327 2
453501176328 4

Question Number : 125 Question Id : 64635029964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117625 1
645350117636 2
645350117637 2
645350117638 4

Question Number : 126 Question Id : 64635029965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When a company distributes its products through a channel structure that includes one
or more resellers, it 1s known as

1.  direct marketing
2. 1indirect marketing
3. integrated marketing

4. multi-level marketing

Options:

645350117639 1
E4E350117640 2
45350117641 =2
645350117642 4

Question Number : 126 Question Id : 64635029965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350117639, 1

EAEZ50117640. 2
E4E350117641. =
645350117642 4

Question Number : 127 Question Id : 64635029966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The retail supply chain does NOT include
1.  manufactures
2. retailers
3.  wholesalers

4. regulators

Options:

645350117642 1
645350117644 2
645350117645 =
48350117646 4

Question Number : 127 Question Id : 64635029966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117643 1
645350117644 2
648350117645 =
645350117646, 4

Question Number : 128 Question Id : 64635029967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consumer behaviour does NOT consist which of the following activities?
1.  Obtaining
2. Consuming
3.  Disposition

4. Producing

Options:

645350117647 1
645350117648 2
645350117649 =
645350117650 4

Question Number : 128 Question 1d : 64635029967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117647 1
645350117648 2
6453501176493 2
E4E350117650 4

Question Number : 129 Question Id : 64635029968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following charactenstics are related to relationship marketing?

(a) Product feature orientation

(b) Product benefit orientation

(c) Frequent consumer contact

(d) High concern for quality

Choose the correct option from the following :
1. (b),(¢)and(d)

2. (a),(b)and(c)
3. (a),(c)and (d)

4. (a), (b)and (d)

Options:

648350117651 1
45350117652 2
645350117652
645350117654 4

Question Number : 129 Question Id : 64635029968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Prafefed o 3 @-9 favdn Fay fagoe 3 d6fta 82
(a) T AR gare=
(b) TEG AH et
(¢) TTHIGT & Iy IRER TH

(d) T IUET RN

= # T 98 IR &1 907 BT ;

[

(b), () 3R (D)
2. (a),(b) MR
3. (@), (0 R
4. (a), (b) 3R (d)

Options:

645350117651, 1
645350117652 2
645350117652
645350117654 4

Question Number : 130 Question 1d : 64635029969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT a main stage in a customer relationship life cycle?
1.  Customer acquisition
2.  Customer development
3. Customer satisfaction

4. Customer annovance

Options:
645350117655 1



EAE350117656. 2
645350117657, 2
6453501176558, 4

Question Number : 130 Question 1d : 64635029969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT | @ S1-91 U159 J9Y Sia a9 B1 U e o= g1 87
1. e 3ok

2.  UE® deMm

3. TES SR
4. UES B ARG

Options:

645350117655 1
48350117656 2
45350117657 =2
645350117658 4

Question Number : 131 Question Id : 64635029970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement (I) : Agreement without consideration is always valid.
Statement (II) : All contracts are agreements but all agreements are not contracts.

In the context of the above two statements, which one of the following codes 1s correct?
1.  Statements (I) and (II) both are correct
2. Both Statements (I) and (II) are incorrect
3.  Statement (I) is incorrect and Statement (II) is correct

4.  Statement (I) is correct but Statement (II) is incorrect

Options:
45350117659, 1

EAE350117660. 2
E4E350117661. =
EAE350117662. 4



Question Number : 131 Question Id : 64635029970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HYT (1) . vfawee & {1 fvan e R 93 faftmr g 21
HYF (1) - 9yt It HIR Bt 8 ueg gt eer, Sfdent 6 g
Iuded HUEl & gy B A # 8 sF-ar gl 87

1. YT AR (D) - T8 8
2. BYF (D AR (1) 2= Taa 8
3. HYF(]) Ted 8 AR BYF (1) 98 2
4. FYT() TE g HY D) TEa

Options:
645350117659, 1

EAE350117660. 2
E4E350117661. =
EAE350117662. 4

Question Number : 132 Question Id : 64635029971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following in order of their manifestations :
(a) Offer
(b) Acceptance
(c) Breach of contract
(d) Contract
Choose the correct option from the following :
1. (a), (D), (c)and (d)
2. (@), (1), (d)and(c)
3. (b),(c), (0) and (d)
4. (a), (d), (c) and (b)

Options:
645350117663, 1

E4E350117664. 2



EAE350117665. 2
E4AE35011 7666, 4

Question Number : 132 Question Id : 64635029971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prafifid 1 =ifta 79 & srafa Siv:
(a) v=E
(b) wipld
(¢ faar v

(d)y dfaa

4 fou Tu e | § 9 IR &1 99 BN ;
1. (), (0),(0) 3R (@)
2. (@), (b).(d) 3R (o)
3. (), (), (a) R

4. (@), (), () 3R (b)

Options:

645350117663 1
645350117664 2
64835011766 =
E4E350117EEE. 4

Question Number : 133 Question Id : 64635029972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Doctrine of Caveat Emptor’ means
1. buyer should make payment well in time
2. buyer should be beware of all aspects of buying

3. buyer will be responsible for the whole payment

4. buyer will not be responsible at any cost

Options:

645350117667 1
645350117668 2
6453501176693 2
48350117670 4

Question Number : 133 Question Id : 64635029972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Sl Y =i @1 3 g

1. odl @l 99Y § Ugd YA 3L o 9iioe
2. HAID e Edie % T vggelt & IR # 9y g a1ty

3. ol 9ol YraE & for fomieR g
4. ar e Faa W Reier 78 g

Options:

645350117667 1
645350117668 2
48350117669 2
45350117670, 4

Question Number : 134 Question Id : 64635029973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List-I
(a) Cyber Cnime (1)  Intellectual Property Right Act
(b) Doctrine of Caveat Emptor (11) Negotiable Instrument Act
(¢) Dishonour of Bill (11) Sale of Goods Act
(d) Patent and Copyrights (iv)  The Information Technology Act

Choose the correct option from those given below :
1. (a)-(u); (B)-v); (¢)~1); (d)-)
2. (a)-(m); (b)-(u); (c)-(w); (d)-Q)
3. (a-(v); (b)) (-1, (d)-()
4. (@) (b)Hav); (c)-it); (d)-{1)

Options:
E4E3E0117671. 1

EAEZS0117672. 2
EAE350117673. 2
645350117674 4

Question Number : 134 Question 1d : 64635029973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



a1 @1 Gei-11 ¥ gafera sifer
-1 -

(a) YRS IOY () fes g sifier sifyfaw
(b) gha HEY= Hifd (i) e fored it
(c) fom &1 erateia (iii) I feept afafgw

(d) teHwIARvtafer  dv) = o sftifm

A= feu 7 fgeredl # @ 98 IR @1 TUS St

1. (a)y-(u); (b)-(v); (c)—1); (d)-(1)
2. (a)-(i); (b-G); (e)av); (d)-1)
3. (a)-Qv); (b)—(u); (¢)-(); (A)-1)
4. (a)-Q1); (b)-av); (e)-(ir); (d)-Q)

Options:

C4ds3E0117671. 1

£4B8350117672. 2

EAE350117673. 2
EAE350117674. 4

Question Number : 135 Question Id : 64635029974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following does NOT come under the definition of “information’ as per the
Right to Information Act (RTI Act), 20057

1.  Logbooks
2 Data material held in electrome from
3.  File noting

4,  Circular

Options:



E4E350117675. 1
EAE350117676. 2
645350117677, 2
645350117675 4

Question Number : 135 Question Id : 64635029974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g @1 fieR fufam, 2005 & ER Fuftiea & ¥ @F-91 ‘g1 & oy &
S=RTet TET ST 82

1. aFneHe!

). sawiRe wU A TE T sifee aEnh
3. Wrgd fewforr

4.  URTA

Options:
45350117675 1

EAE3S0117676. 2
EAE350117677. 2
E4AE5350117675. 4

Question Number : 136 Question Id : 64635029975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Redressal mechanism for consumer disputes under Section 9 of the Consumer
Protection Act envisages a

—

single-tier system
2. two-tier system

3.  three-tier system

-

open system independent of hierarchy

Options:

645350117679 1
645350117680 2
48350117681 =2
453501176582 4



Question Number : 136 Question Id : 64635029975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

JUHITAT Te0r SfAfaw St 4T 9 & 3favid IuHieal f[dael & form Faro d3 | et
U =T B TS 87

1. US-TRIE vt
2. TI-TRIT yoed
3. dF-REG e

4.  USHH 9 Wad gad JorE!

Options:

E4E350117679 1
45350117620 2
645350117681 5
645350117682 4

Question Number : 137 Question Id : 64635029976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following does NOT fall in the ambit of the objectives of Competition
Act, 20027

1.  Encourage Competition
Prevent abuse of dominant position

Prevent monopolistic rights arising out of intellectual property

e Lk sl

Regulate mergers and acquisitions

Options:

645350117683 1
48350117654 2
45350117685 =2
645350117656, 4

Question Number : 137 Question Id : 64635029976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FPofefEd § 9 e=-1 uidwet afaffas, 2002 & SRl & TR & araid A8l 2 e?
1. wiawyf &t sg@

THTE R & gEUANT B A

dfes FUgl | T THAHRATE! USRI Bt I

farera SR iRy 1 fafFatha s

el

Options:

645350117683 1
645350117684 2
48350117685 =
645350117656, 4

Question Number : 138 Question Id : 64635029977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following commodities 1s kept outside the purview of GST?
1. Tobacco products
2. Petroleum products
3.  Edible oils

4. Insurance products

Options:

645350117687 1
645350117688 2
483501176589 =2
45350117690 4

Question Number : 138 Question Id : 64635029977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafed | 9 59 awg o a5 09 997 ST S SRR 1 6% 7@ 1 82

1. O IR
2. Ugiiegd IdmG
3. @ERdd

4. SHITEOR

Options:
E4E3E0117887. 1

EAEZ50117688. 2



E4E350117689. =
E45350117630. 4

Question Number : 139 Question Id : 64635029978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following committees is related to the investor protection?
1.  Bhagwati Committee
2. N. K. Mitra Committee
3. I R. Verma Committee

4. L. C. Gupta Committee

Options:

645350117691 1
645350117692 2
645350117693
645350117694 4

Question Number : 139 Question 1d : 64635029978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofifea d 9 oF-dt aftfa Fawe o 9o 3 dafta 82
1. Hiadr g
2. Uq o e
3. O R oH §fHfd
4. Ud. 9l 1 g

Options:

645350117691, 1
645350117692 2
645350117692
645350117694 4

Question Number : 140 Question Id : 64635029979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following 1s NOT included in negotiable instrument?
1. Cheque
2. Demand Draft
3.  Promuissiory Note

4. Mutual Fund

Options:

645350117695 1
645350117696, 2
48350117697 2
45350117698 4

Question Number : 140 Question Id : 64635029979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i § 9 oF-91 e gy | e T8l 22

1. 9%

2. feHis SR
3. dEUA

4. WA B

Options:

645350117695 1
48350117696 2
45350117697 2
645350117698 4

Question Number : 141 Question Id : 64635029980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SUGAM 1s also know as
1. ITR-l
2. [IIRK2
3. ITR-3
4. ITRH4
Options:

E4E8250117859 1



EAEZ50117700. 2
645350117701, 2
645350117702 4

Question Number : 141 Question 1d : 64635029980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T (SUGAM) 1 59 3 &9 | Ht 51 S7ran &7

1. 3. Tt 3R-1
2. IE.TLAR-2
3. 33 3mR-3
4. 28T 3AR-4

Options:

645350117699 1
645350117700 2
645350117701 =
645350117702 4

Question Number : 142 Question 1d : 64635029981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the information for a house property :

Municipal value 2 4,50,000
Fair rental value < 5.,00,000
Standard rent < 4,80,000
Actual rent Z 4,20,000

What 1s the gross annual value of the house property?

1. 2 480,000
2. T 500,000
3. T 420,000
4. T 450,000

Options:

45350117702 1
645350117704 2
645350117705
645350117706 4

Question Number : 142 Question Id : 64635029981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frafeaa ge=T | Te-aviy &1 9od aite qed 1 8?2

TR 2 4,50,000
Tife foera 9o % 5,00,000
S faran % 4,80,000
GIESIGEAA G| T 420,000

1. X 4,80,000

2. % 500,000

3. T 420,000

4. T 450,000

Options:
E4EZ2E0117703.

E4E350117704.
E4E350117 705,
BAE5350117 706,

b LM

Question Number : 143 Question 1d : 64635029982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List—I List-II
(a) Sec6 (1) (1)  Agriculture Income
(b) Sec 10AA (1) Leave Travel Concession
(c) Secl0Qq) (i11) Resident
(d) Secl0(5) (1v) Leave Salary

Choose the correct option from those given below :
L. (a)-Q); (b)—av); (c)-(u1); (d)-(11)
2. (ay-(ui); (b)-av); (¢)-1); (d)-Q)
3. (a)y-(uu); (B)-); (¢)-(v); (d)-)
4 (@i (0-Gv); (9)-(0); (d)-Gi)
Options:
646350117707, 1
646350117708, 2

645350117703, 3
E4E350117710. 4

Question Number : 143 Question Id : 64635029982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 @t gE-11 ° GHferd BifoTe
Tt a1

(a) 9RI6 (1) (i) oem
(b) URT10AA (i) A& ar fLemad
(¢) ®HRT101) (iii) fart
(d) URT10(5) (iv) @S aas
= fou MU fAweul # I I8t SR &1 T S ;

L (@-@); (B)-v); (e)(i); (d)-Gi)
2. (a)-(u); (b)-Gv); (e)-1);, (d)-0)
3. (a)-Qi); (b)-(); (e)-v); (D)-)
4. (a)-(un); (b)-Gv); (c)-); (D-()

Options:

48350117707 1
645350117703 2
645350117709
645350117710 4

Question Number : 144 Question Id : 64635029983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In tax laws, donation to approved and notified association for scientific research is
allowed as

125% of the donation

i

2. 100% of the donation
3. 175% of the donation

4, 150% of the donation

Options:

645350117711 1
48350117712 2
45350117712 =
645350117714 4

Question Number : 144 Question Id : 64635029983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= PR gyl | d9te sEYE & i ergAifea ok eftgfaa vafiw= &1 g |
FEId & U H (&Y T 9% Sl 87

1. GEP125%
2. GE S 100%
3. GQE®175%

4.  QHEDI150%

Options:

6483501177111
48350117712 2
645350117712 o
645350117714 4

Question Number : 145 Question Id : 64635029984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Amount unufilised in capital gain account scheme for which exemption claimed w's 54
shall be treated as long-term capital gain, if

1. 2 years have expired from the date of transfer
2. 2 years have expired from the date of deposit
3. 3 vears have expired from the date of transfer

4. 3 years have expired from the date of deposit

Options:

645350117715 1
645350117716 2
645350117717 =
645350117718 4

Question Number : 145 Question 1d : 64635029984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSI @ e AT § Svgad T, e fore Uiy s4 & siaia @ & <t fear T g, @
L @feies Uoid @y & ®U B 91 STe, afg

1. oo &t akE @ g 9¥ g Tu &
2. SHIBIgNEAC e SgIUe

3. U@ IdTaESqTu
4, SmHaEddFaddqaTue

Options:
45350117715 1

EAE350117716. 2
E4E350117717. 2
6453501177158 4

Question Number : 146 Question 1d : 64635029985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II

(a) 80TTA (1)  Deduction in respect of payment of
interest on loan taken for higher
education

(b) 80 CCD (1) Deduction in respect of interest on
loan taken for residential house
property

(¢) BOE (111) Deduction in respect of interest on
deposits in savings account

(d) BOEE (1v)  Deduction in respect of contribution to

national pension system

Choose the correct option from those given below :
1. (@-b); (-av); (c)-1); (d)-(1)
2. (a)-(u); (b)-Qv); (c)-(u); (d)-Q)
3. (a-(u); (b)-Q); (c)—(u); (d)-(v)
4. (@)-0); (D-1); (©—(ui); (d)-v)

Options:

645350117719 1
645350117720 2
645350117721 =
48350117722 4

Question Number : 146 Question Id : 64635029985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &t gai-11 | gAfea Sifon :
a1 eI

(@ 80 AAT (i) T= Ren & g o i g Bor o
=TS & YA & G A skt

(by 80 <t &t St (i) SMER e SRy & fore e fey e
U1 U =TT & HeH A St

) 80 %. (iii) S9d @ral & SHref TR Sare & Sed A
Hardt

(d) 80 3.8 (iv) %ﬁmmﬁﬁﬁw%mﬁﬁ

= feu v fdeet # O 98 SR o1 Tu i

L. (a)-(); (0)-v); (¢)-); (d)-()
2. (a)y-(m); (b)-(v); ()-(1); (d)-@)
3. (a)p-ui); (b)-D); (0)-i); (d)-Gv)
4. (a)-); (b)~11); ()—1n); (d)-Gv)

Options:

645350117719 1
645350117720 2
645350117721 =
645350117722 4

Question Number : 147 Question 1d : 64635029986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Statement (I) : If the tax liability has been reduced within the legal framework, it is
tax planning.

Statement (II) : If tax liability has been reduced to get benefit of deduction available
under the income tax, it 1s called tax evasion.

In the context of the above two statements, which one of the following codes 1s correct?

=]

Both the Statements (I} and (II) are correct
2. Statement (I) 1s correct but (II) 1s incorrect
3.  Both Statements (I} and (II) are incorrect
4

Statermment (I1) 1s correct but (I) 1s incorrect

Options:

645350117723 1
48350117724 2
48350117725 =2
645350117726 4

Question Number : 147 Question Id : 64635029986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B (1) . gfe; fifte TE & Hiar #1 <aar 9<rs o 8, 1 98 o e B

HYF (11) . Tf 3T-BR P 3 IUTS BT BT TAH I3 & [o78 B STaT1 IS TS
2 T 38 TR IUdE FHEl T |

ST et & e E P AR S a7
1. @YD) IR AN < TAE
2. HYF(]) IS T AT YT () Taa ©
3. HYF() AR AT §
4. FHYF(I) TE 8 ARG S () Taa 8

Options:

48350117722 1
645350117724 2
645350117725
645350117726 4

Question Number : 148 Question Id : 64635029987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



X is an individual of 55 years of age having gross total income < 3,50,000. What 1s the
tax liability for assessment year 2018-19?

1. ¥5,000
2. 22,500
3. 22,580
4. T3,000

Options:

645350117727 1
48350117728 2
645350117729 5
645350117720 4

Question Number : 148 Question Id : 64635029987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Uy 55 gu(0 Afed €, et o 9od oM 2 3,50,000 21 99 2018-19 & eoic 9 &
fere @< oar @ grfie

1. 5,000
2: ®2300
3. %2580
4. 3,000

Options:

645350117727 1
645350117728 2
648350117729 2
48350117720 4

Question Number : 149 Question Id : 64635029988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Deduction u/s 37(1) 1s allowed under tax laws for those expenditures which are
1. revenue
2. capital
3.  both revenue and capital

4. deferred revenue expenses

Options:

645350117721 1
645350117732 2
646350117732 2
48350117724 4

Question Number : 149 Question Id : 64635029988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y TTEE H 4RT 37(1) S Sfarid St Bt Efa 35 i & fore < e, S e
1. IeRE

o

3. Yrora 3R goid giel

i

4. 3T Iore &Y

Options:

645350117731 1
645350117732 2
6483501177322 2
45350117724 4

Question Number : 150 Question Id : 64635029989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Return of income is submitted under which Section of Income-tax Act?
1. Section 138 (1)
2. Section 142 (1)
3.  Section 139 (1)

4.  Section 129 (1)

Options:

645350117735 1
645350117736 2
646350117737 2
48350117728 4

Question Number : 150 Question Id : 64635029989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3 e Fofifaa & § o «r1 & siaria ot faan S 22
1. URT138(1)
2. URI142(1)
3. URT139(1)

4. YRI129 (1)

Options:
45350117735 1

EAE350117736. 2
EAE350117737. 2
EAE350117738. 4



